RE724 1 & B AT 2 4 Aavsu—+A B

NREBE®&
M6 x 2 0MER
(RFVLR)
M6 AZILTUh

50 o ~
i [Tp-4k3=PFN

BE7241-01 HEmMLELY avyy—+A % R 5

50 F; ;q
MEEITL
NREBEE®

M6 x 4 0ME R
(RFYLR)
M6AYTS54

o>
3
W B
(-1
i
ot
s

BE7248 el EY oy

50 )
M6 x 16ME R
21 (RFYLR)
2 w4
607 A B S #ifig
70°
mE7 2409 HERAEY % % A M e

22.5

50 . 630
M6 x 1 4IER
(RFYLR) 20
R
_ Fel f,l; ATFULRE
1 WG 1.0t gl
; 670




RE7252 i & B AT & % 8 15 85 1 B T
30
E === 1
S— ]
50
2%E7253 &= A2 Y wam

/

500

30

.30
2
il

T

ST
fi¢4><25

- M6 x 10MEZR
#i f“j (&)
i% RFULRE
LL .‘-'I: = e »/L1' hifx25
| 1

#

R ILER 2 &4t
(RFVLR)
%7255 GEBRMEY P e A
300
30
_ I
SEREES Tas=E
, ] == 11

/

50

o7 M6 x 1 0ME R
Hif r ‘T (&)
o= D (R
LL = =5 LL1.5tx25
: \\¥

11 a |
RE72506 w AT &Y B - MR i
1200
T
SR e

/

50

11

s - %;;;omﬁx
bl b
LL 31\\£$§Z§§//#//1f1 5tx25
BN

#




Jf;
N

¢5. 8Xx50K%Y
(RFYLR)

01

Rt

hy7V G

300

ZiHE
LR 27

XiHE
nt&

fRiEE

WFFRVIA

05

i

FniR

MHH

06

MR EH

07

ETSEH




